3rd Grade

Holt Big 20   Week 3.6
(12-13)
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	Solve for a.

	
	
	
	

	
	
	
	

	
	 4 
 1      _____
	0    a     b    c      d     e   1             
What fraction does the letter d represent on the number line?
________
	

	 
   2 
   2    ____
	
	
	Draw and label two equivalent fractions using the models below.
______ = _____


Measure the length. 
	24.NF.3
	12.NBT.1
	15.NF.1
	13.NBT.2

	16.NF.1
	36.MD.7
	15.NF.1
	13.NBT.2

	18.NF.2
	4.OA.4
	5.OA.5
	30.MD.4

	30.MD.4
	23.NF.3
	17.NF.2
19.NF.2
	1.OA.1

	23.NF.3
	10.OA.9
	14.NBT.3
	22.NF.3


Write a fraction that names 1 part out of 4 equal parts.


  











         ________________








Compare using >, < or =.





1/3 ____2/6





             							


Name _________________________________                     Date _____________________








Round 801 to the nearest ten and hundred.





ten = _______





hundred = ______





Draw a model to show: 


            2/4
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 888 = 291+ a


  

















a   = ___________





What fraction represents the part of the number line that is shaded?


0                                        1
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______________





�








_________





Find the area of a figure that measures 7in by 2in.

















area = _____________








What fraction of   


 the figure is NOT        


 shaded?





Solve and check.


   


   292   


+ 659





 








 Solve for m.





m ÷ 7 = 5








m = ______





Use the distributive property to solve:


         


4 x 28 = ______





Measure the figure at the bottom of the page to the nearest ( inch.  


Record answer here.





__________________








_________________











Measure the figure at the bottom of the page to the nearest cm.  


Record answer here.





__________________

















4 + 5 =





=





Draw a model for 3 x 4 and write the product.   


3 x 4 = ____




















Complete the chart for the rule, out = in x 3





in�
out�
�
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�
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= _____








8 x 4 = ______





80 x 4 = ______


        









